Of=0 [This question paper contains 04 printed pages]
EI%’

TH I I H 04 qiad g9 @

Roll Number / T qa<:
HPAS Etc. Combined Competitive (Main) Examination, 2019
.00, o< 64 STaanT (&) T<reT, 2019

Economics-1 / ST THE-1
Time Allowed: 3 Hours Maximum Marks: 100
AT qHT: 3 e sferha 3t 100
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1. This question paper contains total eight questions.

2.

3.

4.

5.

1.

TH T T H T A8 T &

Attempt any five questions including compulsory question No. 1.

A aTd 7o Ja< 1 giad gl o TI7 & 3L <ITor |

Each question carries equal marks. Marks are divided and indicated against each part of

the question. Write answer in legible handwriting. Each part of the question must be
answered in sequence and in the same continuation.

AT TST F T 0 21 9T F oty g % 91 ¥ wekw 9 F fawg i e
AT g1 3Y +0E forEmae # e W o Todsh AT &7 397 ST w7 H (<37 ST AT Ul

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
question shall be counted even if attempted partly. Any page or portion of the page left
blank in answer book must be clearly struck off.

ST o I w0l TUMET HATTETE Al SITOIT| TS FTeT Tl @, AT T 6 IAL o0l TUMET %0f
ST =72 g I Serd: T T 2n 39 Fedet § @reil SISt gal I8 a7 I8F (9T i

Y B H FHT AT A2
Re-evaluation / Re-checking of answer book is not allowed.

SALTEART o TR [ T ST 6l AT ol 2

Answer the following questions in brief: - (05x04 =20)
FRrerferfera wem 1 3= gaw § dfor-

(a) How far is it correct to say that under the assumption of New Classical rational
expectations systematic monetary policy will be ineffective?

T FgAT Figl A Tl g o Aa1 AT [Eashelier TTer i Aregar i ®ais &
TE(daE Altadh Ad T Tt ?

(b) “Basic needs approach is a more positive and concrete concept than the double

negatives like ‘eliminating poverty’ or ‘reducing unemployment’’. Discuss.

AT AETIFHAT FIeH0T THeAar ITa ST AN SAed im0 SE J8L

T OreITedeh (TRTETCHR) Tal & STTerh TohTerce Ua 318 e g7 Ee=mr fifem

Page 10of 4



(c) Explain why price competition is rare and uncommon in Oligopoly. Mention few
factors that explain price stickiness in Oligopoly market.

AAITIHTT AT | HIAT TAARET F TAT TF AGHET ¢, GHAd| THh
HATIAFTE ST & o Rawar it =TT 3 aTel T FIERT 67 F47 Ao

(d) How does multinational investment defeat the objectives of inclusive growth?

agrety faer e s gwTasht #afs & I5eed &t fawer T 3ar 872

“Friedman’s quantity theory of money broadly arrives at the same relationship between
quantity of money and price level that the traditional Fisherian quantity theory does, but
using less restrictive assumptions.” Discuss. Why is the theory called ‘theory of demand
for money’?

“TRIEHT &7 &1 &7 TR Hgid, Ja7 & IR ofiT fiad &7 § q91¢ K 97 Tt
THEwg TATIOT FIAT g ST 0 IFIE [T T GIOSHRIIT FIAT g AR FH Trdsiad

ATATa & g1 fea=e St =8 Frgia &1 qaT 6 91 &7 fgid #7290 w1 Imar g ?
(15+5)

(a) Distinguish between (i) depreciation and devaluation, (ii) Nominal Effective
Exchange Rate and Real Effective Exchange Rate and (ii1) Spot Exchange Rate and
Forward Exchange Rate.

Faferied & 7ea 92 - (i) TIgT U Aaqead (i) ATHAT (FIHE) T9rat
e = v gt yarEt FfRET 22 (i) e BfAaT 3 v wiEs (@mEa)
[EIRED KL (03x03=09)
(b) How far is it correct to say that the purchasing power parity theory of exchange rate
is able to explain the changes in exchange rate from a base/initial position due to

changes in relative prices but Not how the base/initial exchange rate is actually
determined?

g FgAT gl qF ST g [ HF Ii<h qHAT HGIq U AT / TIHE A= a7 32
H grafers fima § IREdT & FAeawT g arel Tadal sl daf ATedT Hdl §
foheq =9 1T %I SATEAT dal HAT [ e / Srtwa afFwT 3w &1 i &

THRTL BIaT 872 (11)

Examine how the Classical theory of output & employment explain simultaneous
equilibrium in labour, product and money markets. How does the theory claim that any
change in supply of money in the economy leave the output and employment
unchanged?
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6.

IATEA U AR w1 AT fEia o aw, somas ud /iftE e §
THEATIE HIAT i ATEAT FAT g, TLEAT o | T2 ™Fid Tg H &A14d Far g 6

HaT &f g H B aTaT &l | TREdd IcATad Ud TR &l AIatdd @dr gl
(14+6)

Distinguish between incidence and impact of a tax. Using suitable diagrams show how
under condition of perfect competition incidence of a tax depends on elasticities of
demand for and supply of the commodity. If supply is inelastic, will shift in demand have
a larger impact on equilibrium quantity or price?

T & FATT T HITATT o6 HET S shiord | ITI<h =1 7T TN F2d g0 T i9had hifora
#it e Jae ot sfaaTiRiar it fatsr § s a&q &t 77 ud gfd & a= 97 14w
FLAT g1 TS I Ser=are gf af 7R7 ¥ fFade arer | 31 77 e stfeew g
I FT? (04 +13+03)

Distinguish between Human Development Index and Inequality Adjusted Human
Development Index. How are they computed? Briefly explain (i) Why is it important to
explain GNI per capita in purchasing power parity international dollars and (i1) Can the
HDI alone measure a country’s level of human development.

AEa @A Ga&® U ST A\dT GRS 911 S gahih 6 7ed dAqe eqrad
FIMT| HAT H THATST | ST TTT ¥ gl g2 (i) Tg F91 aedq® g T stuadr sfa
ZT<h &l T AT<h THAT AT STAL H 2Ah ohAT I (i) F7 HDI (T ¥ 312) 3Tehel
ToReft 391 § AT fashTe o &I¢ T 779 T 9T 872 (04+08 +04+04)

Explain the measures adopted and steps taken by the WTO to promote multilateral
trading system. How far is it right to attribute the unprecedented existential crisis being
faced by WTO in recent times to the opposition of its proponents and dissatisfaction of
the emerging market economies who find the dispute settlement mechanism of WTO
ineffective?

g T SATITL TOITAT T FETAT @ o [T WTO FTRT 33T TU FHIH| il GHATSH| T

& THT § WTO FTRT 9THAT {7 ST a1l A9 q9d ATRqcaTcde Hahe ol e g& & I
JEATEh! o (AU Td IWLT JToTE AF=T=qe 730 % WTO F faare Fearor yorreft % afa
FEATT T TIOTTH FgAT Fgl qh Irad 872 (14 + 06)

State and market have complementary roles in economic development.” Discuss. Explain
in the context of India how the roles of the two and their relative importance have
changed after the adoption of structural reforms.

Page 3 of 4



‘I T & TS UF 1T il IHE10 UF a6l 2F gral gl" Ea=ar S
AT % G7aH H GHATSY i HLAATHE AT 6 TTATI ST o6 THTT el A1 H
e s e g g | (12+08)
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